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1. The	L.H.S	of	the	equation is(6x+6) 0=

(i) 0 (ii) (6x+4) (iii) (5x+6) (iv) (6x+8) (v) (6x+6)

2. The	R.H.S	of	the	equation is(−9x−3) 0=

(i) (−9x−3) (ii) 3 (iii) (−3) (iv) 0 (v) (−1)

3. The	L.H.S	of	the	equation is(−x+1) 2=

(i) (−x+3) (ii) (−2x+1) (iii) (−x+1) (iv) (−x−1) (v) 2

4. The	R.H.S	of	the	equation is(4x+1) 6=

(i) 8 (ii) 3 (iii) (4x+1) (iv) 5 (v) 6

5. The	L.H.S	of	the	equation is(2x+5) (9x−2)=

(i) (2x+2) (ii) (9x−2) (iii) (2x+8) (iv) (2x+5) (v) (x+5)

6. The	R.H.S	of	the	equation is(−6x+8) (9x+2)=

(i) (8x+2) (ii) (9x+2) (iii) (−6x+8) (iv) (9x+5) (v) 9x

7. The	additive	inverse	of	the	expression(−x−6) is
(i) (x+9) (ii) (x+4) (iii) 6 (iv) (−x−6) (v) (x+6)

8. The	additive	inverse	of	the	expression 0 is
(i) (−1) (ii) 0 (iii) 3 (iv) (−2)

9. Solve	the	equation(x−4) 0=

(i) 2 (ii) 4 (iii) 7 (iv) 5 (v) 3

10. Solve	the	equation(−9x) 2=

(i) ( -211 ) (ii) ( -27 ) (iii) ( -29 ) (iv) 0 (v) ( -49 )

11. Solve	the	equation(4x−8) 0=

(i) 1 (ii) 3 (iii) 4 (iv) 0 (v) 2

12. Solve	the	equation(54
x+8) 0=

(i) ( -345 ) (ii) -6 (iii) ( -203 ) (iv) ( -325 ) (v) ( -447 )

13. Solve	the	equation(x+1) (−3)=

(i) -5 (ii) -4 (iii) -2 (iv) -6 (v) -3



14. Solve	the	equation(7x−7
5) (−4

9)=

(i) 1
7 (ii) 43

315 (iii) 41
315 (iv) 43

317 (v) 43
313

15. Solve	the	equation(−2x−7) (−x+6)=

(i) -13 (ii) -12 (iii) -15 (iv) -11 (v) -14

16. Solve	the	equation(−6
5
x+9

7) (−4
3
x−8

9)=

(i) ( -68342 ) (ii) ( -71744 ) (iii) ( -68542 ) (iv) ( -22914 ) (v) ( -65340 )

17. The	L.H.S	of	the	equation is(4x−9) 0=

(i) (4x−9) (ii) (4x−12) (iii) 0 (iv) (4x−6) (v) (3x−9)

18. The	R.H.S	of	the	equation is(3x+5) 0=

(i) 3 (ii) 0 (iii) (−1) (iv) (3x+5) (v) (−2)

19. The	L.H.S	of	the	equation is(9x+5) (−1)=

(i) (−1) (ii) (9x+5) (iii) (8x+5) (iv) (9x+2) (v) (9x+7)

20. The	R.H.S	of	the	equation is5x (−8)=

(i) (−11) (ii) 5x (iii) (−6) (iv) (−8) (v) (−9)

21. The	L.H.S	of	the	equation is(3x−2) (−9x+4)=

(i) (3x−2) (ii) (2x−2) (iii) 3x (iv) (−9x+4) (v) (3x−5)

22. The	R.H.S	of	the	equation is(−3x+8) (−x+8)=

(i) (−2x+8) (ii) (−x+10) (iii) (−x+8) (iv) (−3x+8) (v) (−x+6)

23. The	additive	inverse	of	the	expression(−x−4) is
(i) (x+1) (ii) (−x−4) (iii) (x+4) (iv) (x+6) (v) 4

24. The	additive	inverse	of	the	expression 0 is
(i) (−3) (ii) (−1) (iii) 0 (iv) 2

25. Solve	the	equation(x+6) 0=

(i) -6 (ii) -7 (iii) -3 (iv) -9 (v) -5

26. Solve	the	equation 2x (−7)=

(i) ( -72 ) (ii) ( -92 ) (iii) ( -52 ) (iv) ( -134 ) (v) -4

27. Solve	the	equation(9x+8) 0=

(i) ( -23 ) (ii) ( -87 ) (iii) ( -89 ) (iv) ( -811 ) (v) ( -109 )



28. Solve	the	equation(−7
4
x+6

5) 0=

(i) 22
35 (ii) 24

37 (iii) 24
35 (iv) 26

35 (v) 8
11

29. Solve	the	equation(−x−8) (−1)=

(i) -6 (ii) -4 (iii) -8 (iv) -7 (v) -10

30. Solve	the	equation(−4x−3
2) (−2)=

(i) 1
8 (ii) 1

6 (iii) ( -18 ) (iv) 3
8 (v) 1

10

31. Solve	the	equation(8x+9) (x+9)=

(i) 1 (ii) -3 (iii) 3 (iv) 0 (v) -1

32. Solve	the	equation(97
x−8

9) (−9x−6
5)=

(i) ( -49
1622 ) (ii) ( -47

1620 ) (iii) ( -49
1618 ) (iv) ( -17540 ) (v) ( -49

1620 )



 1)	(v)  2)	(iv)  3)	(iii)  4)	(v)  5)	(iv)  6)	(ii)

 7)	(v)  8)	(ii)  9)	(ii)  10)	(iii)  11)	(v)  12)	(iv)

 13)	(ii)  14)	(ii)  15)	(i)  16)	(iii)  17)	(i)  18)	(ii)

 19)	(ii)  20)	(iv)  21)	(i)  22)	(iii)  23)	(iii)  24)	(iii)

 25)	(i)  26)	(i)  27)	(iii)  28)	(iii)  29)	(iv)  30)	(i)

 31)	(iv)  32)	(v)
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